Note: “These are sample MCQs to
indicate pattern, may or may

not appear in examination”
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Program: BE Mechanical Engineering
Curriculum Scheme: Revised 2012
Examination: Third Year Semester VI
Course Code: MEC 605 And Course Name: Mechatronics

Time: 1 hour Max. Marks: 50

Note to the students:- All Questions are compulsory and carry equal marks .

QL. The device which converts one energy into another is called a

Option A: | Transistor

Option B: | Transducer

OptionC: | PLC

Option D: | Micro-controller

Q2. The temperature control system which maintains the temperature of a room at
30 °C when it is set is an example of

Option A: | Open loop system

Option B: | Closed loop system

Option C: | Open position

Option D: | Half position system

Q3. On-off Control is also called as

Option A: | one position control

Option B: | two position control

Option C: | four position control

Option D: | half position control

Q4. An AC Servo Motor is basically a

Option A: | hysteresis motor

Option B: | synchronous motor

Option C: | DC shunt motor

Option D: | 2-phase induction motor

Q5. The electric motor generally used in computer printer driver is

Option A: | reluctance motor

Option B: | hysteresis motor

Option C: | universal motor

Option D: | stepper motor

Q6. In DC motor, armature resistance control method is also known as

Option A: constant torque control.

Option B: | constant power control.

Option C: | constant voltage control.

Option D: | constant current control
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Q7. In a DC motor the direction of rotation is determined by

Option A: | Lenz law.

Option B: | Faraday Law.

Option C: | Fleming left hand rule

Option D: | Fleming right hand rule

Q8. A pressure relief valve can be

Option A: | spring operated

Option B: | gas operated

Option C: | solenoid operated

Option D: | pedal operated

Q0. How is reverse flow possible in pilot operated check valve?

Option A: | Spring force lifts the ball due to which reverse flow is possible

Option B: | Fluid pressure lifts the ball due to which reverse flow is possible

Option C: | Automatically without any external aid

Option D: | depends on the fluid

Q10. The vibration of the piezoelectric device in the drive generates which motion at
the tip

Option A: | Circular

Option B: | linear

Option C: | Oscillatory

Option D: | Elliptical

Q11. Which of the following is a disadvantage of ball valves?
b) c) d).

Option A: | They are large and heavy

Option B: | They have high maintenance costs

Option C: | They have relatively poor throttling characteristics

Option D: | They are among the most expensive of the valve types

Q12. Housekeeping is

Option A: | detects the state of input devices

Option B: | executes the logic

Option C: | energises the devices

Option D: | communicates with terminals

Q13. Latching means

Option A: | output energized remains energized

Option B: | input energized remains energized

Option C: | memory energized remains energized

Option D: | CPU energized remains energized

Q14. After TOGGLE

Option A: | NC becomes NO

Option B: | NC remains NC

Option C: | NC becomes ON

3|Page


https://instrumentationtools.com/ball-valve/

Option D: | NC becomes OFF

Q15. Output of ADC is

Option A: | digital

Option B: | analog

Option C: | discontinuous

Option D: | continuous

Q16. Which of the following is the first flow control method?

Option A: | Software hand shaking

Option B: | hardware handshaking

Option C: | UART

Option D: | SPI

Q17. Which of the following can provide hardware handshaking?

Option A: | RS232

Option B: | Parallel port

Option C: | Counter

Option D: | Timer

Q18. Which of the following is not a serial protocol?

Option A: | SPI

Option B: | 12C

Option C: | Serial port

Option D: | RS232

Q19. Which can prevent the terminal of data transmission?

Option A: | Flow control

Option B: | increasing flow

Option C: increasing count

Option D: | terminal count

Q20. Which of the following can be adopted for the systems which does not contain
DMA controller for data transmission?

Option A: | Counter

Option B: | timer

Option C: | polling

Option D: | memory

Q21. Which of the following have low-level buffer filling?

Option A: | Output

Option B: | peripheral

Option C: | DMA controller

Option D: | input

Q22. Modern car is operated by

Option A: | microprocessor
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Option B:

microcontroller

Option C: | satellite

Option D: | control tower

Q23. Surveillance balloon is used in
Option A: | traffic control

Option B: | weather monitoring

Option C: | transport of goods

Option D: | personnel deployment

Q24. Autonomous mobile robot (AMR) does not use
Option A: | Ultrasound

Option B: | Sonar

OptionC: | LED

OptionD: | IR

Q25. Automated car parking has
Option A: | Stop barrier

Option B: | Out barrier

Option C: | Go barrier

Option D: | Turn barrier
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Time: 1 hour

Program: BE Electronics and Telecommunication Engineering
Curriculum Scheme: Revised 2012
Examination: Third Year Semester VI
Course Code: ETC 605 and Course Name: Operating Systems

Max. Marks: 50

Note to the students:- All the Questions are compulsory and carry equal marks .

Ql. Which of the error is handled by operating system?

Option A: Compiler error

Option B: Syntax error

Option C: File missing error

Option D: Connection failure in the network

Q2. What is monolithic kernel in OS?

Option A: is an operating system architecture where the entire operating system is working
in kernel space.

Option B: is an operating system architecture where the entire operating system is working
in Network space

Option C: is an operating system architecture where the entire operating system is working
in Device drivers

Option D: is an operating system architecture where the entire operating system is working
in booting space.

Q3. By operating system, the resource management can be done via

Option A: Time division multiplexing

Option B: Space division multiplexing

Option C: Time and space division multiplexing

Option D: Frequency division multiplexing
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Q4. If a process fails, most operating system write the error information to a

Option A: log file

Option B: another running process

Option C: new file

Option D: Another API

Q5. What is a long-term scheduler?

Option A: It selects which process has to be brought into the ready queue

Option B: It selects which process has to be executed next and allocates CPU

Option C: It selects which process to remove from memory by swapping

Option D: It selects which process to remove from memory by swapping

Qb. The interval from the time of submission of a process to the time of completion is
termed as

Option A: waiting time

Option B: turnaround time

Option C: response time

Option D: Throughput

Q7. If all processes I/0 bound, the ready queue will almost alwaysbe _ and the
Short term Scheduler willhavea _ to do.

Option A: full, little

Option B: full, lot

Option C: empty, little

Option D: empty, lot

Q8. What is a short-term scheduler?

Option A: It selects which process has to be brought into the ready queue

Option B: It selects which process has to be executed next and allocates CPU
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Option C: It selects which process to remove from memory by swapping

Option D: It selects which process to be used for short term

Q9. Which hardware triggers some operation after certain programmed count?
Option A: programmable interval timer

Option B: interrupt timer

Option C: programmable timer

Option D: PCl

Q10. Which buffer holds the output for a device?

Option A: Spool

Option B: Output

Option C: Status

Option D: Magic

Ql1. A process is moved to wait queue when I/O request is made with

Option A: non-blocking /0

Option B: blocking 1/0

Option C: asynchronous /0

Option D: synchronous I/0

Ql2. is a unique tag, usually a number identifies the file within the file system.
Option A: File identifier

Option B: File name

Option C: File type

Option D: File extension

Q13. Everything below the system call interface and above the physical hardware is

known as
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Option A: Kernel

Option B: shell

Option C: Bus

Option D: Stub

Q14. Which of the following command create a process?

Option A: Fork

Option B: pwd

Option C: cd

Option D: Ls

Q15. The data structure gives information about files or directory (i.e.
actual representation of files or directory). The information like the location of
disk block where the file is stored, time at which file changes last, owner of the
file, access permissions (read/write), etc.

Option A: V-node

Option B: I-node

Option C: Process Table

Option D: File-node

Qle. Which one of the following options is not a shell in UNIX system?

Option A: Bourne Shell

Option B: C shell

Option C: Korn Shell

Option D: Net Shell

Ql7. Linux is .
Option A: single user, single tasking
Option B: single user, multitasking
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Option C: multiuser, single tasking

Option D: multiuser, multitasking

Q18. When the event for which a thread is blocked occurs,

Option A: Thread moves to the ready queue

Option B: Thread remains blocked

Option C: Thread completes

Option D: Thread begins

Q19. A fork system call will fail if :

Option A: the previously executed statement is also a fork call

Option B: the limit on the maximum number of processes in the system would be executed

Option C: the limit on the minimum number of processes that can be under execution by a
single user would be executed

Option D: the previously executed statement is also a fork call

Q20. The system structure of linux is:

Option A: Microsoft

Option B: Unix

Option C: Windows Vista

Option D: Monolithic Kernal

Q21. What is the priority of a real time task?

Option A: must degrade over time

Option B: must not degrade over time

Option C: may degrade over time

Option D: Will increase over time

Q22. The scheduling algorithm schedules periodic tasks using a static
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priority policy with preemption.

Option A: earliest deadline first

Option B: rate monotonic

Option C: first cum first served

Option D: Priority

Q23. 4. Assign the priority of each task according to its period, so that the shorter the
period the higher the priority is the concept used in

Option A: Rate monotonic scheduling

Option B: EDF Scheduling

Option C: clock driven scheduling -Cyclic

Option D: clock driven scheduling -Table driven

Q24. Scheduling of tasks is a very important consideration in RTOS. Which of the
following best described the scheduling policy design:

Option A: The scheduler must follow a pre-emptive policy

Option B: The scheduler must not use pre-emptive policy option

Option C: The scheduler must not only use pre-emptive policy options with the priority
considerations.

Option D: The scheduler must not use pre-emptive policy option, but must employ priority
consideration

Q25. Task with the smallest deadline/laxity is assigned the highest priority in

Option A: Rate monotonic scheduling

Option B: EDF Scheduling

Option C: clock driven scheduling -Cyclic

Option D: clock driven scheduling -Table driven
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Program: BE Information Technology
Curriculum Scheme: Revised 2012

Examination: Third Year Semester VI

Course Code: TEITC605 and Course Name: Advanced Internet Technology(AIT)

Time: 1 hour

Max. Marks: 50

Note to the students:- All the Questions are compulsory and carry equal marks .

Q1. SEO Stands for :

Option A: | Search Entry Optimization

Option B: | Search Engine Operation

Option C: | Search Engine Optimization

Option D: | Search Entry Operation

Q2. Site reach is an example of e-commerce effectiveness measure in the category of

Option A: | channel satisfaction

Option B: | channel contribution

Option C: | channel outcomes

Option D: | channel promotion

Q3. By default the direction for the linear gradient in CSS3 is

Option A: | top to bottom

Option B: | left to right

Option C: right to left

Option D: | bottom to top

Q4. The media features is defined as the ratio of the value of the
" device-width ' media feature to the value of the ' device-height ' media feature.

Option A: | device-aspect-ratio

Option B: | device-aspect-query

Option C: | device-aspect

Option D: | device-ratio

Q5. How to use a word wrap using CSS3?

Option A: | text-wrap:break-word,;

Option B: text-wrap:normal,

Option C: text-width:set;

Option D: | word-wrap:break-word;

Q6. Which of the following is not semantic element for structuring web page in
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HTML5?

Option A: | <mark>

Option B: <time>

Option C: | <figure>

Option D: | <wbr>

Q7. Which of the following HTTP Status code means OK, shows success?

Option A: 200

Option B: 201

Option C: 204

Option D: 304

Qs. sets or returns whether the audio/video should start playing as soon
as it is loaded.

Option A: controls

Option B: audio Tracks

Option C: currentSrc

Option D: | autoplay

Q9. Which of the following selector is used to select when you place mouse over it?

Option A: Focus

Option B: Hover

Option C: Mouse

Option D: Keypress

Q10. Which of the following free tools/websites helps us to identify which city in the
world has the largest search for keyword “Six Sigma”?

Option A: | Yahoo Search Term Suggestion tool

Option B: Alexa

Option C: Google Trends

Option D: | Google Traffic Estimator

Q11. What is the CTR of an ad that has 40 clicks and 1000 impressions?

Option A: 4%

Option B: 0.04%

Option C: 40%

Option D: 43%

Q12. #ETFFFf is equivglent to which color in rgb color representation?

Option A: | rgb(0,0,0)

Option B: rgh(100,100,100)

Option C: rgh(90,90,90)

Option D: | rgh(255,255,255)

Q13. Which ONE of the following is based on user-generated media, mainly

investigating earned media?
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Option A: | Web site analytics

Option B: | Social media monitoring

Option C: Log file analysis

Option D: | Web counters

Qia4. Which of following statement is false about the space parameter in
JSON.stringify()?

Option A: It controls spacing in the resulting JSON string

Option B: It is an optional parameter

Option C: It removes whitespace

Option D: | It is convert object to sting

Q15. Which of these extracts information from user generated content for further
scrutiny?

Option A: | JavaScript Tagging

Option B: | A/B Testing

Option C: | Web-scraping software

Option D: MROCs

Qle. If a website’s search engine saturation with respect to a particular search engine
is 25%, what does it mean?

Option A: | 25% of the web pages of the website have been indexed by the search engine

Option B: Only 25% of the pages of the website will be indexed by the search engine

Option C: | 25% of the websites pages will never be indexed

Option D: | The website ranks in the first 25% of all websites indexed by the search engine
for its most important search terms

Q17. Which of the following specifies what happens if content overflow an element’s
box?

Option A: Overflow

Option B: Overflow-x

Option C: | Overflow-y

Option D: | Float

Q18. Which of the following is not an element of website audit?

Option A: | Page load time

Option B: Usability

Option C: Keyword health checks

Option D: | Use of RDF

Q19. Which of the following directive of Cache Control Header of HTTP response
provides indication to server to revalidate resource if max-age has passed?

Option A: | must-revalidate

Option B: Private

Option C: no-cache/no-store

Option D: max-age

14| Page



Q20. Which one of the following is a good example of direct advertising?

Option A: | Display cards

Option B: A brochure

Option C: Display panels on vehicles

Option D: | Window display

Q21. What will be the output of the following JavaScript code?
<p id="demo"></p>
<script>
function myFunction()
{
var str = "Tables";
var pattl = /tables/i;
var result = str.match(pattl);
document.getElementByld("demo™).innerHTML = result;

}

Option A: | Tables

Option B: | tables

Option C: Undefined

Option D: Error

Q22. The formula to calculate CTR is:

Option A: impressions+ clicks + conversions

Option B: clicks/conversions

Option C: | conversions/impressions

Option D: | clicks/impressions

Q23. Which of the following query shows approximate number of URLSs indexed by
Google?

Option A: | site: www.google.com

Option B: | inurl:www.google.com

Option C: | intext:www.google.com

Option D: | inanchor:www.google.com

Q24. The “beginning with” substring matching attribute selector has the following
syntax

Option A: | Element[attribute*="value"]

Option B: | Element[attribute”="value"]

Option C: Element[attribute$="value"]

Option D: | Element[attribute="value"]

Q25. What will be the output of the following JavaScript code?
<p id="hi"></p>

<script>

var x = 123e5;
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document.getElementByld("hi").innerHTML = x ;

</script>
Option A: 0.0123
Option B: 12300000
Option C: Error
Option D: Undefined
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Program: BE Instrumentation Engineering
Curriculum Scheme: Revised 2012
Examination: Third Year Semester VI
Course Code: ISC605 and Course Name: Industrial Data Communication

Time: 1hour Max. Marks: 50

Note to the students: - All Questions are compulsory and carry equal marks.

Q1. What is the speed of HL Communication?

Option A: | 16kbps

Option B: | 31.25kbps

Option C: | 48kbps

Option D: | 1mbps

Q2. In Foundation Fieldbus HSE stands for

Option A: High Speed Energy

Option B: Highway System Ethernet

Option C: High Speed Ethernet

Option D: | HART Speed Energy

Q3.

The process to process delivery of the entire message is the responsibility of the
following layer.

Option A: | network
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Option B: | Transport
Option C: | Physical
Option D: | Application
Q4. OSI stands for
Option A: open system interconnection
Option B: operating system interface
Option C: optical service implementation
Option D: open service Internet
Q5. TCP/IP model does not have layer but OSI model have this layer
Option A: | session layer
Option B: | transport layer
Option C: | application layer
Option D:
network layer
Q6. The network layer protocol for internet is
Option A: | Ethernet
Option B: | internet protocol
Option C: hypertext transfer protocol
Option D: file transfer protocol
Q7. WAN stands for
Option A: | World area network
Option B: | Wide area network
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Option C: | Web area network
Option D: | Web access network
Q8.
MAC address is of
Option A: | 24 bits
Option B: | 36 bits
Option C: | 42 bits
Option D:
48 bits
Q9.
What is the maximum device handling capacity of serial standard protocol
RS485 in terms of drivers and receivers on a single line?
Option A: | 8
Option B: | 10
OptionC: | 16
Option D: | 32
Q10.
What is the cable that carries the information in parallel transmission called?
Option A: | Parallel line
Option B: Data bus
Option C: Data line
Option D: | Data link
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Q11. Ethernet frame consists of
Option A: | MAC address
Option B: IP address
Option C: Default mask
Option D: | Network address
Q12. Which device operates in physical layer
Option A: | passive hub
Option B: | repeater
Option C: | bridge
Option D: | router
Q13.
HART stands for
Option A:
Highway Addressable Real Transducer
Option B:
Highway Accessible Remote Transducer
Option C: Highway addressable Remote Transducer
Option D: | Highway Addressable Remote Transmitter
Q14. The number of lines in GPIB are
Option A:
16
OptionB: |8
OptionC: | 4
OptionD: |1
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Q15.

Which Principal used in HART Communication

Option A: | Phase Shift Key
Option B: | Frequency Shift Key
Option C: | Pulse Width Modulation
Option D: | Frequency Modulation
Q16.
What is the communication speed in HART communication standard?
Option A: | 9600bps
Option B: | 1200bps
Option C: | 2400bps
Option D: | 4800bps
Q17.
What is the speed of HL Communication
Option A: | 16kbps
Option B: | 31.25kbps
Option C: | 48kbps
Option D: | 1mbps
Q18.
Which network topology requires a central controller or hub?
Option A: | Star
Option B: Mesh

21| Page



Option C: Ring
Option D: | bus
Q19. A television broadcast is an example of following transmission
Option A:
simplex
Option B:
Half duplex
Option C:
Full duplex
Option D:
Automatic
Q20.
What does the abbreviation GPS stands for
Option A: | Global point selection
Option B: | Geographical point software
Option C: | Geographical positioning system
Option D: | Global positioning system
Q21. The transmitter-receiver combination in the satellite is known as a
Option A: | Relay
Option B: Repeater
Option C: | Transponder
Option D: | Duplexer
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Q22. Wifi stands for
Option A:
wireless fidelity
Option B: | wireless functionality
Option C: | wireless function
Option D: | wireless field
Q23. What is the maximum cable length in FF
Option A: | 1200 M
Option B: | 1900M
Option C: | 2500M
Option D: | 3200M
Q24. Foundation Fieldbus based on
Option A: | IEEE 802.3 standard
Option B: IEEE 802.11 standard
Option C: IEEE 802.15 standard
Option D: IEEE 804 standard
Q25. In Foundation Fieldbus LAS stands for
Option A: a) Link Active Schedular
Option B: b) Line Active Schedular
Option C: c) Local Area System
Option D: d) Local Active Schedular
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